SoluTToONS

Math 11 Quadratics #2 — Review #2

1. What is different about these two graphs?
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d) Stretch Factor
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##% Use the following equation for questions (5-7): % (y-3)=(x+4)

.a) up/down b) left/right c) and stretches it d) and reflects it in the x-axis

6. The “4” moves the graph.
a) up/down

¢) and stretches it d) and reflects it in the x-axis

7. The* '™ .
a) moves the graph up/down b) moves the graph sidewaysyc) stretches the graph

8. The parabola shown in the diagram has its x-intercepts at (-3, 0) and (11, 0). Which one of the
following “could” be the vertex:
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9. A ball is kicked and its graph is defined by - = { y —20) = ( x — 6)*. What is the maximum he1ght?
How lnng does it take to reach the maximum hmght‘? ‘20‘ Qg \/Q r—\-e){ a

b) 5m 6s c) 20m 5s d}ﬁm 20s (6 2@)
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10. Which of the following equations could be used to find the area, if you had 200 m of material to

construct a fence around the following area? P 200m
a) y=(200-x)(x) b) y= (100 —2x)(x) o x hetx=width
' = le
) v —(znfj sz){x) ) d) y=(100-x)(2%) ‘Q-?jq ‘%x 0 x W“SJ"‘”
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*EFA mcket is launched and its path is defined by h = -4t% + 40t. Use this equatmn“fu answgf? H ? 'XJ
= -4+t +*—lO
11. What is the maximum height of the rocket? e t

a) 40 b) 160 ) 10 3 h— -HE o)
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b) 5 seconds c) 4 seconds | " d) 20 seconds h=-4 Lt_ﬁ) +OC
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13. How high would thc rocke bc aﬂ'cr 3 secnnds‘? * \{QT ‘e x (5; |OCJ)
a) 40m c) 156 m d) 100 m

h=-HE%HH0GE) Tmeto Max.

W= -4(9) +120 reach HEBH

12. How much time would it take the rocket to hit the ground? 2l
(a) 10 seconds




14.1f y=3(x- 2}1 + 1 was placed in general form, it would be:

a) y=3-6x+3 (b y=3-12x+ 13 jt ) y=3x>-6x+13 d) y=3-6x+3

N = S(X-2)%\

N =32 )(%-2) ¥
y= (3%-6) (x-2)+|

\} — 8‘;{2:" 63){.";'23'}(4*-"2&1- I
N = IX*—12X+13




15.-§(y+2}={x—1)*_(‘ﬁ=)
Vertex C I 3_2)
Direction_ Sownward

Stretch Factor "5

Axis of Symmetry IX = :L

Domain Zﬁ Z"EEEE
Range lﬂ -d—"'-'_',‘a)jtj SR}
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16.3(y-2)=x> => 3(\/"‘2)7- CX-‘O)i ('I_F')

Vertex (1},2)

Divegtion | fpw( ard

|
Stretch Factor } 3

Axis of Symmetry rX =0

Domain {X J KER}
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